x107°

<d @> (rad)
o
=
a1

o
TIT [T T [ TI T[T T[T I T I T[rrrT

RatloI
=}

I
ey

q ik
¥ o
B -

b | :

4 P :

! Al i

P I P PO P O I P DT
N -4
- -
v R

=3 -2

-1 0 1 2 3
TP n (PCA to beamline)

< o cot(y) >
o
=
a1

0.05]

-0.05

-0.15

o
TIT [T T [ TI [T T T[T I [T T[rrrT

x107°

..........

..........

RatloI
o
> o EJ

-2 -1 0 1 2

3

TP n (PCA to beamline)

—=— SoftQCD_default
—— SoftQCD_ckfPixelLessStep

100

< 00, > (M)

«

=3 -2

-1 0 1 2 3
TP n (PCA to beamline)

<0 / > (Y
PP, > (Y0)
O = N W N O

—_

—12— ------ PR LR [ L. bee.ee
_22_ ..............................................
—3;— ------ e H s P LRI
_42_ ................................................
=k | | low o |
g 5 : :
< ] i
@ 1.05 : ¢
J_Hm. b 9e - 44 : 4 .ﬂ v
033 0 T 2 3

TP n (PCA to beamline)

<od,> (um)

1L ........................

........................

S N S
L I A I A T
el L. ."“ r 4 444

h : :

-2 -1 0 1 2

3

TP n (PCA to beamline)



	Contents
	Page 1


